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Research for inpruvment of tending at Jersey in Hiruzen area
Survey for tending at Jersey(1)

Toshihiko AKIYAMA Rikiya KUROIWA Kazuaki YOSHIMOTO and Shigetou TANIDA

29
2,500

10

4.8

11 11

17



18 14

12 1 14 12 « )
1,001

55 5,089
2,274 45%

11 2,596 (28% 55 60 3 4 5 6 7 8 9 1.0 1
305
305

305
(kg)
305 12 5,623 6000 ©
kg 62 5000
12 6,000 4000 ©
kg 6 6,179 3000
kg 2000
6,401kg 1000

56 57 58 59 60 61 62 63 1 2 3 4 5 6 7 8 9 10



19

(kg) ®)
7,000
6,000/ 5.40
6,000 =
[==] 1 520
4.88% 4.71% 5000 H—e— 00
(5.05%) (5.22%) 4000 450
3,000 4.60
2,000 440
1,000 4.20
2,364kg 0 400
2768kg 404kg 56 57 58 59 60 61 62 63 1 2 3 4 5 6 7 8 9 10
t
(41.9%)
35.5% 45_6% 46.1%
(kg) () (kg)
7,000 7,000
6,000 540 6,000 1= NN
| 520 5’000 o al
5000 500 R = p
4,000 480 4,000
3,000 460 3,000
2,000 240 2000 -
1,000 420 1,000 |-
0 565758 50 60 61 6263 1 2 3 4 5 6 7 8 9 10 400 56 5758 5960 61 6263 1 2 3 4 56 7 8 910
43.5
o
1]
15.2% o
kg o
u
43 O
2.2% 19.6%
42.2 35.6
20.0 65
2.0 3.5kg 5.0kg 20
3.5kg pH (
29%7 29% 5.7%
O 15kg
17.1% W 20kg
0 2.5kg
LEI 030kg
= M 3.5kg
o [ 4.0kg
- 11.4% B 45k
0 5.0kg
W 55kg
M 6.0kg
25.7% 0 65kg




20

10

(4.8%

13

9.2%

9.2%

56 100

10
146

12

90%

60%

12

9.28%

9.5%
9.5%

14
180% 180%
170% | [ 170%
160% | | == 160%
137 150% || A 150%
vl
140% 140%
130% 130%
120% 120%
110% 110%
100% 100%
90% 90%
80% 80%
5657 58 50 60 61 62 63 1 2 3 4 5 6 7 8 9 10
®
550 1004
525 Ieg 80
500 hd
\.’\ / 60%
475 \’_./’\‘
40%
450
425 20%
wop b o o
123456 7 8 91011 12
4.6%
(4. ) el
493 r
491
20% /
489
487
485
HO H10 H11 H12 H13
(%)
1000 100%
975 80%
60%
0%
204
875
50 R - o%
123 45 6 7 8 9 1011 12 123 45678910112
0%
928 /
926 |-
924 |
92 —¢
920 |
918 |-
016 ‘ ‘ ‘ ‘

H13




21

400 100%
30 80%
20
60%
25
150 40%
100
20%
50
3 0 L L L L L 0%
1 2 3 4 5 6 7 8 9 10 11 12 12 3 4 5 6 7 8 9 10 11 12
30
11 (
350
35 /
300
NN Pl
" \/
225
HO H10 H11 H12 H13
/ml
410 ¢ 430
28,190 390 M 125
12 14 370 Ny 420
19 396 /ml 350 115
330 410
325 /ml 210 s
290 10
270 15
250 -10
13 14
/m
13 14 1200 [
20 1000 |
800 . /
HI4 (o .
400
) y = 0.978x + 24.945
200 R? = 0.7594
0 L L
0 800 1000 1200
/ml
H13
100%
90% |
80% |
21 0%
30 60% | W50
50% |- 0 30-50
80.2% 76.8% 70.1% o - £120-30
61.7% 58.5% 50.5% 30% | B 10-20
20% |- m10
10%

0%




22

D
2)
3)

23

30

(2000)

30

(2001)

(2000)

22

30

100%
90% r
80% r
0%
60% r
50% r
40%
30%
20% |-
10% r

0%

100%

80%

60% -

40% -

20% -

0%

14

H 50
00 30-50
020-30
W 10-20
010

H50
0030-50
020-30
| 10-20
o 10




